\ S / The positive angle between 0° and 360° that is coterminal with the angle —698° is
& 29 degrees.

The negative angle between —360° and 0° that is coterminal with the angle —698° is

- '5"730 degrees.
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@ The length of the arc intercepted by a central angle of 4 radians in a circle of radius 74
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The length of the arc intercepted by a central angle pf 20° sh a circle of radius 20 is
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Find the length of an arc on a circle of radius 9 Ccn'lrespondimT to an angle of 45°.
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units. (Give an exact answer as a fraction, not

Arc length =

a decimal approximation.)
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